GENERAL

4. Al lumber shall be Douglas Fir in accordance with “Standard Grading

1. Standard details and general notes apply to all parts of the project and Dressing Rules” of the West Coast Lumber Inspection Bureau.
except where specifically detailed or noted otherwise on these
drawings. 5. All new structural plywood shall be Douglas Fir C—D with exterior glue.

2. Dimensions and details of existing construction were copied from . \/
existing drawings provided by The Koll Company, partially verified by 6. All new posts and beams shall be No. 2 grade, unless noted otherwise.
visual inspection and are given for references only. The engineer . . . ” ”
shall be r?otified of all disgreponcies. Y 9 7. All r(;nscelloneous framing (studs, furring, etc.) shall be "standard

3. Resolve any conflicts on the drawings with the engineer before grade.
proceeding with construction. Dimensions take precedence over scale . .

; 8. Sill plates bearing on concrete or masonry shall be pressure treated
drawings.
Douglas Fir.

4. All new construction, inspection and physical testing procedures shall .,
comply with the latest requirements of the building department. 9. Holes for bolts shall not be more than 1/16” larger in diameter than

the bolt.

5. Construction to commence within ____ days after issuance of the B1L%3151’0
building permit. 10. All bolts shall have standard cut washers at wood faces, unless noted

A. Building permit to be obtained no later than otherwise. REDHILL  AVENUE
B. All construction to be completed no later than
11. Pre—drilling for screws shall not be larger than the root diameter of (
the threads for the depth of the threaded portions. = ¥
[ 1 BLDG 18 9
BI1_9(839§4 BLDG 21 % 25 17865 o Qo
|17885 I > ol 52 3=

CONSTRUCTION NOTES T L @ 2=

1. The stamped set of plans and specifications shall be kept on the job ADDITIONAL NOTES N T < o
site and shall be available to authorized representatives of the BLDG 23 o® o ler BLDe 12
Department. There shall be no deviation from the stamped plans and 1.  Structural Observation is required on this project, the following 17891 @ ol | LS BI1'[7)§516
specifications without official approval. procedures shall be followed: % | ‘\/

1 1o 1oy ~ BLDG 7

2. Cznlsltrgchon .S(;]fgty p:jrowsmns ('jn chiﬁrd%nﬁz.w'th opplttcoble‘loc?tl c?[de;t' * A pre—construction meeting including the Engineer or Architect SKY PARK CIRCLE DRIVE 1780 =z
shd ekprowthe sn-ld-opproge ty fe u't'n%, |ns]E>ec or pr|(<j)r o starting responsible for the Structural Observation, the Contractor, and 35
any Wwork on the buiding. ermits for protective fences and/or canopies an appropriate Subcontractor shall be held to review the details 3>
constructed on public property must be secured from street use of the structural svstem to be structurally observed )

Inspection Division of the Department of Public Work. Y y ’ I -
c 4
)

3. Where public utility lines or equipment must be removed, and/or . . . . L
relocated, obtain the necessary approvals from Department of Water and * Dyrmg the course of construction, the Engineer/Architect shall =
Power prior to starting work. V|-suolly review the structural system for ger?e-rol S:onformonce g o

with the approved plans. Any observed deficiencies shall be c — -

4. The contractor shall be responsible for removal, relocation and reported in writing to the owner's representative, to the M 0 | |
replacement of all architectural, mechanical, electrical and fire contractor and to the Department. s -
protection systems which are necessary to facilitate new construction. 3

* Upon completion of the applicable shear walls and/or/the ©

5. Prior to starting construction, the contractor shall field verify all anchorage system and prior to covering the shear walls/
existing conditions. Existing architectural, mechanical and electrical anchorage system, the Engineer/Archictect performing the
conditions are not shown on these drawings. Report any missing existing Structural Observation shall submit a letter to the Department
connection to the engineer immediately upon discovery. with his/her wet stamp and signature attesting to (1) the date

. . . Lo . on which the pre—contruction meeting was held and (2) the dates

6. Ur;\le”ss speqﬂcolly noted otherwise on drawings, all existing construction on which visual reviews were conducted. The letter shall also
shall remain. identify any reported deficiencies which, to the best of the

7. The engineer will have control or charge of construction means, methods, observer's knowledge, have not been resolved.
techniques, sequences or procedures, and will not be responsible for . .
safety precautions and programs in connection with the construction *  Prior to covering the work, the shear walls and/or anchorage
delineated by these drawings. system shall be inspected and approved by the Department

Inspection staff assigned to the project. Such approval by the

8. Existing construction such as slab on grade, walls, etc., may contain Department is required prior to covering. The
embedded electrical conduits. The contractor shall be responsible for Engineer /Architect performing the Structural Observation is not
determining location of such conduits prior to demolition, drilling of holes authorized to approve the covering of the shear walls/anchorage
for new anchors, bolts, etc., and exercise care so as not to endanger system. His/her structural observations are advisory only and
workers or damage conduits. they do not in any way bind the Department or constitute a

certification that the shear walls will pall Department

9. Existing plumbing and electrical lines shall not be embedded in new concrete Inspection.
unless encased in a metal case as shown in plans.

. . , . , *  Please place this statement next to your seal on the first page

10. The cgntroctor is responsible jco obtain seporgte building permits for all of the plans. "I am responsible for this building's seismic
electrical, plumbing, and heating and ventilating works. . . . : . . L

strengthening design in compliance with the minimum seismic

11. The contractor is responsible to obtain all necessary permits from public Ees(;s’f,onced stﬁndordsllof b?'v'fﬁn 9R1 gftthed LSS AFnges BL;|Id|ng
works and provide necessary barriers, protection fences, and/or canopies ode (cjm when odp‘?.mo ]? © feg](|s e[e | jpu_y n?cpec or,
along public ways prior to construction. required as a condition of use of structural design stresses

requiring continuous inspection, will be responsible to me as

12. In drilling for new anchors or bolts, etc., care shall be taken not to cut required by Section 91.0306(a) of the Los Angeles Building
existing reinforcing steel. Code”.  91.9110(c)

13. Where drawings indicate removal or releasing of nuts in certain existing * A licensed fabricator is required for all off site construction
bolted connections to facilitate installation of new construction, such of connection hardware, miscellaneous metals and structural
removal or releasing shall be done in such a manner as not to significantly steel. /\
jeopardize the connection during construction and shall be replaced or
retightened immediately following installation of new construction and upon
completion of each work shift. 2. Structural elements (including walls and footings) which project into

bli t i bli k | prior to i f

14. Building shall not be occupied during construction where: pubiic property require public Work dpproval prior to isstdnce ©

building permit. SITE MAP

3. Deputy inspection is required for all field welding, and

A. Building strength is substantially weakened at any time.

B. Required exits are not available or are obstructed.

C. Required fire safety devices such as sprinklers, standpipes and alarm
systems are not operational.

epoxy bolt installation.

MAIN ST.

STRUCTURAL STEEL MACARTHUR BLVD.

1. All structural steel shall conform to ASTM A—-36—67.

2. Shop welding shall be performed in the shop of a licensed Fabricator
approved by the Department. Field welding shall be performed by
certified welders approved by the Department. Continuous inspection
for field welding shall be required.

SAN DIEGO (405) FWY.

MACARTHUR BLVD.AND REDHILL AVE.

GENERAL NOTES AND SPECIFICATIONS

RPORT SEISMIC RETROFRIT

14

3. Holes for bolts in structural steel shall be drilled or punched. H<=

Burning of holes shall not be permitted. 0 é

n 0

Wmle

4. Welding shall conform to the latest AWS standards. Welders shall be z =
certified by the building department. %) oll”
AT . ||w

ud
5. Provide fills at splices of parts having more than 1/8" difference in L2z :

thickness. O E
czx|l-
24 =

6. After fabrication, all steel shall be cleaned free of rust, loose mill <
scale and oil, then given one shop coat of rust inhibitive primer. —
After erection, all unpainted surfaces and surfaces where paint has . L
been damaged shall be given a field touch up coat of primer used for = W
the shop coat. © T
Ll
S V\{

WOOD

1. Screws shall be installed by turning. Install in pilot holes: the
part of the pilot hole receiving the shank shall be 7/8 of the shank
diameter: the part of the pilot hole receiving the thread shall be 7/8
of the thread root diameter.

LOCATION MAP

2. Nails shall be common nails unless otherwise noted.

3. Lead holes for lag bolts shall be bored conforming to standards set by
National Design Specifications manual. Lag bolts shall be a minimum of
4 inches from ends of wood joist, blocking, or rafter.




NOTES:

(E) CONC. WALL

1. ALL CONCRETE WALLS ARE 5 1/2” THICK U.N.O.
2. T.L. INDICATES TOP OF LEDGER FROM FINISHED FLOOR LINE.
3. BEFORE COMMENCING ANY WORK, THE CONTRACTOR SHALL
READ ALL NOTES AND SPECIFICATIONS CONTAINED ON SHEET SN.

ELEV. +15'-1 1/2"

ELEV. +14'—10"

(\(E) 1/2” PLY ROOF SHTG

(AT HIGH PT
OF ROOF)

(E) 5 1/2” CONC. WALLK.“

ELEV. +0'-0"

T — -

(E) 2"x4” RAFTERSJ

(E) GLULAM BEAM

(E) 4”x LEDGER

100’
41/ 50 D 50
10’ 8’ 9’ 8’ 10’
A @ ’b\\(i A /b\\'il
./ SD-1/TYR @ L/ L ./ 2/
R EACH PURLIN S ¢.L. HINGE 3 3
% 7 [ 7
<:> N N R N
6 — il o c— — — — ——
| | | | | | | |
! ! ! ! ! ! ! !
(E) 4”x LEDGER
_____ TYP @ PERIMETER
o) I I I I I I I I
N | | | | | | | |
‘ii’ ! o ! ! !
———_ ! &
@ B - ———@)\5 ] /a"de 3/8 ot ) L ) 5 1/k"x24 3/8" d.B B
| I T | I
| N | | —
| | | | | &TL///’///p///”’ﬁ |
| (E) 2°x4” —(E) 2°x4” ' |_——(E) 4"x14” PURLINS @ 8'—0" 0.C. (TYP. U.N.G: : : : I @
| -
RAFTERS @ RAFTERS @ | |
b 16” 0.C. 24” 0.C. | 1 = 8” 13,_3” | | | | TYP @
| S | (TYP UN.O) . . — - . ! . . 8'-0" 0.C.
21 1 6; 8” 18, 311 2) : | | 81_8” ‘ | 8’ 1 41_ 5» 3) _911 |
| ‘iﬂ’
/I | \ | | | |
| | | I - ! I o | |
| ]
! ! 3 \\\\ & STAR
__ _ __ | _ _ __ __ -

] A= @ 5 | (E) 5 1/4°k24 3/8" cL}L " © Jl ©® 5 1/kx24 3/8” o8B
S = N N T T A T B A Y R A R B R B 7 S B B S | S | - i - - o 7 |
| R T O T T R R R O T N N R U (A Y Y 1| | I - - T - - - - T T o [

-] - | | () vauT BSSI | IR—— E— ! ! |
T, | — = ! ! ! WALL — ~ W __ g __ _ 1 ! ! |
I | T T T R R T T Y R L R 17 (A N R ST T || I | BELOW f I | !
| RN A | -- 4 -- - -- --

o - e ol o ) = = S | S | — . . '
N - [ ~ Q ~ U I I I | - - - - - - I I |
| Crr ot A | | -- -- -- -- - --
|_‘———||||||||/|(|||||||| O | | n __ __ - —-- _ __ | :
[ | |- LAY ! | e ettt =LY L ! ! | &Y
R o -———]|-—=-—-—0 — — o+
o | o O T T T T O R T I 1 | e TYP @ GLB 1 © 4L ___ %L & __ % TYP @ GLB
—{F === 11 T N T T O A | H— = —{—! TO WALL LE“L N ,\:i_ ______ &S L Ny JL(E)51/4” 24 38" GII WALL
- — I (E) 5 1/4°%24 3/8” G + Y Y ] < |
3 - Ee-— -
— AT L T = &) [ I |
(E) 2"x10” RAFTERS N . : . (7 L . . '
@ 16” 0.C. ' ! \&-Y ! ' ' |
(E) 2°x12” FACIA (TYP) 3 | |
. (E) 2"x10" FLOOR ¥ |
o) 1 | JOISTS @ 16” 0.C. I ! (E) 2"x4”
, \BLDG # 1 (E) HIGH ROOF FRAMING PLAN \&-/ o0 RAFERS B
1/8" = 1-0 USE 2— HD8A E.S. (4 TOTAL) £ (TYP U.N.O.) 16" 0.C.
: W/ 7/8°¢ THR’'D ROD | 14 . : W o __ (E) 414 !
TYP @ PURLIN WHERE SHOWN | & |
i Q) i !
@ B | (F) 5 1/4"x24|3/8" GLB J‘L ] : | J‘L () 5 1/4k24 3/
T e T
I @y I I I ol ! ! o %! g |
;’on"@oc 3 ;\N E% g ¢ 3
R I | | ST e ST | s |
8 : ! ! ! g @ 1 0 N%\' Iy l S
mZ
o R
S ! ! ! ol ! | - —— Lo |
| | | Il - : Lol |
ENTRY
Q J | €§ L
‘I R — — = — — 1 I 1T
|
(E) 12"x20" LINTELJ ”
(E) 1/2” PLY ROOF SHTG (E) CONC. WALL TYP ® EACH PURLIN
8'-0" O.C.
| NN O | >
(E) 2"x10" RAFTERS s,
J 1 BLDG # 1 (E) LOW ROOF AND PENTHOUSE FRAMING PLAN
(E) 1 5/8” THK. "ELASTIZELL" TOPPING T 1/8" = 1'=0"
OVER (E) 3/4” PLY FLOOR SHTG "
e e e e e e e e e e e e e P e e e e e e = = = = = ED
ifi HER R
1 \ 1 1 I i i
(E) 4"x14” PURLINS = ©
O
< < v a a N
(E) 2"x10” JOISTS
5y
~
™
<+
R
o =
/\ _— NORTH

SECTION THRU BLDG # 1

(E) VAULT WALL

®

1/411 — 11_011

JECT:

CUSTOMER:

RPORT SEISMIC RETROFRIT

=
<
_
an
@)
=
=
<
el
L
L
- 3
wl
b o
- 0
I Z
Q <C
= =
o
&< pd
|
N0 o
b
z —~
ox<l]].. L
520 ~
e |
P—DC% - =
DCSS —
8%:9; ==
o
< o
[
o
w  Mm
Ll
T
27




240’ I
40° 40° 40° 40’ | 40°
| g8’ g8’ | 9’ 9’ | 9’ ‘ 9’ |
4 4 J 4 4 4 4
(E) CONC. WALL @Typ ) ) 5 o o o o o
EACH PURLIN &7 ¢.L. HINGE a7 d.L. HINGE a7 a7 & ¢.L. HINGE A7 ¢.L. HINGE a7
7 Y 7 Y 7 7 7
| V% P | % > > 7 I | %
|
— i | | | | | | | | | | | | |
| | | | | | | | | | | | |
(E) 4”x LEDGER /
TYP @ PERIMETER I
© | | | | | | | | | | | | |
N | | | | | | | | | | | | | |
A |
| | | | | | | | | | | | | | | | | |
VP o | | 00\, | | | | 00\, | | | | 00\’ | | | I | @ |
8,_0" O C I @ LYIEGE@ » ” @ » » @ OO(
G} ] L ® 5 1747421 178 GLB, JL ® 5 1/4 113" 6B | L (g 5 1/4"x19 J/2" 6B J|L Jle) 5 1/47x3” oLB (E) 5 1/47k19 1/2” GLB
N al __ T X AR LV
‘I‘I’ ‘I‘I’ ‘I‘I’ ‘I‘I’ ‘I‘I’
| | | | | | | | | | | | | | |
(E) 2"x4” ! ! ! ! ! ! ! ! ! ! ! ! ! I ! !
RAFTERS @ o
24” 0.C. | L
le) | | | | | | | | | | | | | | | | =
N | | | | | | | | | | | | | | | | o
oy | | | | | : ]
wn | !
I | W | | | | | | | | | | | | | | | 5
TYP @ PURLIN I I I I I I I I I I I I I I I I
! ' WHERE SHOWN o o o ' © o
” ” L » ” L » » L ”» ”» I
@ | ! L () 5 1/47k21 1/8 GLB L ® 5 1/4413 GLBEH:— E L () 51/4"x19 | /2" 6B J|L E Jle) 5 1/47x13” oLB (E) 5 1/4"%19 1/2” GLB
N — 13 — ——=-- -- = -— - - - == -- - i Lol
A g r ) ) ) )
o 1 ! | | | | | | | | | i | | | |
0 I m I I I I I I I I ! ! I I I — I
\ 2 -
5 | gYPO o | | | | | | | | +(F) 4x12” PURLINS @ 8—0" O.C. (TYPj— | | | o |
1Y I 8'-0" | | | | | | | | | | | | A | |
Py | B Sy | | | ;
] ! | | | | | | | | | | | | | | | Z | | |
I W I I N I I I N N I I I I N I I I 1= ! @ I
TYP © GLB & | & ) ) & < %
@ ] |/ 10 WALL JL ©®) 5 1/47k21 1 /8 oLg| JL® 51/4 013" 6B | ) L (g) 5 1/4°x19 |/2” o8 J|L ) Jlke) 5 1/47x3” oLB (E) 5 1/4"419 1/2” GLB
NS 13 1/ _ _ __ A _ _ . X i Gl
1r T ) 1 1 1 L]
~— o L
| ' 5 . E— a ST ' ' ' : : : | | 1o ' '
| | (S o o o m X1 | | | |
E F § A e 9 o | |2
ol 2 ) ) g R I— 3 1 O
5 1 | ~ I I O I I i | | | | | | | | | |
~ 1 | (I ' ' o ' ' I | | | ! ! ! ! ! ! T | | |
w~Z O
| =
| | . | | N% | | - | | I I I I I I < | |
| | - | | ~ | | - | | I I I I I I : = |
~—1¢ ]
ENTRY = "' -‘-
If = = = = 7 = = = 1 17 == = TT == = TT = = T == = TT = = TT = _I_ T 1L
@ ~ Y | \J ' T i i i ¥ ¥ - NV -
> ] ] i ] 1 N I I i I I I >
8 (E) 11 1/2"x36” LINTEL L L L } il L L L )
4
< (E) CONC. WALL (E) CONC. WALL oo | <
| ~ (E) 11 1/2"x36 LINTEL/ " | ‘ 1 ; (E) CONC. WALL
TYP @
NOTES TY (E) CONC. CANOPY TY EACH PURLIN
8-0" 0.C. BLDG #10 (E) ROOF FRAMING PLAN (WEST) PURLIN TO LINTEL
1. ALL CONCRETE WALLS ARE 5 1/2” THICK U.N.O. 2 R
2. T.L. INDICATES TOP OF LEDGER FROM FINISHED FLOOR LINE.

3. BEFORE COMMENCING ANY WORK, THE CONTRACTOR SHALL
READ ALL NOTES AND SPECIFICATIONS CONTAINED ON SHEET SN.

©
@
@)
©
&

BLDG #10 (E) MEZZ. AND ROOF PLANS (WEST)

|_
L
r o4
240’ — =
-
40° 40’ 40° 40 1 40 E 5
7 L
%
o
- O ESa
4 R 5<Z
@) p— wgé
— )
| T = 428
(E) 4”x LEDGER > ) x|l
5 TYP @ PERIMETER | » — 22 ||w
4 il I S o« e
q‘,/\ — T~ T — T~ -7 & — T~ -T IZ &J\;o & m%s; =
l - | - — | - - — o <= -
Y L __ L o \> L R I?,: Sall & x= =
@ + |52/ 18) 2x10 (E) 2x10 - (E) 2x10 _(E) 2x10 - > (E) 2x10 | (E) 2x10 B — <
| l T ] T | | T o |-
<+ T 1 T T O O A [ [ [
) L IR AN | B N AR | L | R NI R B | O B | | I | . :O L
o0 ':_=:_ : I : : : : : : : [ T B [ |LU/H I/UJJ | | | | [ : | LI I O B i L o i : 1= on I uJD— T
‘ ‘ ‘ (E) 2x10 ‘ [ I A B 5 m
I LA 1@ 12" 0 ! - I T T B R e s gy | Ll
R /14\ T I //_(E) 2,,X10 JOISTS =770 ey 1y ———", : I_(E) 2"><1O JOISTS ——, | o Coall R, : by |I =
o —— | L1 T e 16 O| ('I|'YP)‘ ‘ ‘ H | | | , @ 16”7 O|C. (TYP) 1 1 | | A | O R A R Loy —
- NERE
Q| 1] [ |2 00 [ | e ‘ [ | | ‘ | L
A7 9 R | N\ Lo : ! Lo I Lo : oo Lo : oo 8
1 N2 I el | Coaf | Lo Co
LA e L L AL IV T T T ] L b |+‘x L | X by |+‘x' L | X L |+‘x' . : <
g g G g G =
~ : | (E) 6x10 (E) 6x10 S %/ < %/ & |
% | | ENTRY (€)_6x10 | [l (E)_6x10 €)_6x10 | L1 | () 6x10 €) 6x10 | [T IE) exi0 ||
< ) ~ _ . _ ﬁ _ _
| [ i wd ENTRY ENTRY
(E) CONC. WALL— L L L . .
(E) CONC. WALL 13

13 \S-2/TYP @

8-0" O.C.
e @BLDG #10 (E) MEZZANINE FRAMING PLAN (WEST) SEZM RN

1/8" = 1'-0” NORTH




> I 240’
1 40 40’ ! 40’
777 7 ﬂ
9’ 9’
u\\i @Typ @ M Q\(i (E) CONC. WALL
— N .
| ¢.L. HINGE | d/ EACH PURLIN <§/ d/ ¢.L. HINGE
E) 1/2" PLY ROOF SHTG
(\ - | o~y Y | ol
ELEV. +19'-1 1/2" @ B B
ELEV. +18'—4 1/2” . == == == == = == == == == == =T == == ==
(AT HIGH PT : ) |
OF ROOF) ,_\ 1 \ 1 $ |
|
) \ | | | | | |
- ’) ' I o | I I I I
4 (E) 2"x4” RAFTERS o (E) 4"x LEDGER
1 (E) 4"x12" PURLINS ! TYP @ PERIMETE /
hl fe) I I I I I I
| (E) GLULAM BEAM N I I | I I I I
. (E) 4”x LEDGER ! 3
., I I | I I % I I
1, | | | | | |
- y § (E) 5/8” PLY FLOOR SHTG ‘ ! ‘ IYP @ | g)f " o.c
E) 5 1/2" CONC. WALL 1. . —-0" 0.
: LM I ©® s 1/4x19 172" cup JL HINGE ©® 5 1/4ka7 7/8" clb
1 4_ J— J— —_— 3 — —_—
REA ] T2 ]
: 9 2
a | | SD—1
. | | | | |
el » I I I I I I I (E) 2"x4" _ ™YP @
1 (E) 2"x FLOOR JOISTS | RAFTERS @ 80" 0.0
. | .
-l | 24” 0.c. == ——— I
o . | | | | | | | | I | L
- N | | | | | | | | =
A | | (5 | | | . — o
1. 3, | (A - o
. | | | | | | I | ) — wn |
o I I I I TYP @ PURLIN I I o I I . | : U 5
o 4 WHERE SHOWN S .
ELEV. 40 -0 I @ O
@ B B B JII\ (E) 5 [1 /4”x19 1/2”| GLB L ©® 5 1/4ka7 7/8" cib -
Ne T i ‘ T | E
© < [
© | i | | : : | ! [
I | | | | | | | |
SECTION THRU BLDG #10
A FJF oo o1 | / !
> - | | (E) 4"x12" PURLINS @ 8'—0" 0.C. (TYP | | | .
N | T I N
ol L— | | o
|
@) | | I
o | | . . | | | |
= | & S | TYP @ GLB
= & ‘ & J‘ TO WALL
< it} ” »
E) 5 1/4'x19 1/2" GLB E) 5 1/§{x17 7/8” GLB
<€> - Lk N SNGERVZ SRV ! IV (£) 5 /47 7/8” | Y I
1" ) ] T
L] o
Lod | Qi o
Al : S The— & S g : :
L ! 3| |2 X X X —— | @ NI
= gl € g ) g R — E
b : | | ~ | | | (@] | |\ |g | i
N | | I ! ! I PN | ! I | \
T oZ .
O |2 S
= | | 1 | | [aV][4 N | | - | X
<§E I I I ' ' G(n ' ' Lo I : °
! G - P
ENTRY = - <
I J[ v L
DAt ' '
N
7
E) CONC.|WALL
D, | (E) CONC. WALL (E) 11 1/2"x36” LINTEL )
10 91 T
\-1/TYP @ %)
@BLDG #10 (E) ROOF FRAMING PLAN (EAST) TY EACH PURLIN <
/8" = -0 8'-0" 0.C. “
%
Z
— _
O, (®) (©) T .
L
240’ o O
/’/’/’ Di |_1>J O
40’ 40’ 40’ — = o
e ard | =)
I \ \ L] %J pd
| _— A @ <
O .
N
— x 2
| ” O 5<= m
- (E) 4”x LEDGER — 942
%) | TYP '@ PERIMETER = $35 =
2 Ll mbe
| R — o\ z —~
gl & S —- S v g%é =
g /0 \O | 1 //‘b |_|_| ml'_—LIJ“ 1
< | | [ - < (N 2%z 2
@ \ - B ~ | (E) 2xio0 (E) 2x10_ [ (E) 2x10 [\[ S50z S
[ x=
~ | r N |_ < - o
Lo Lol , | . E
NOTES: ﬁ T T T T 17 T T Tt 1 1 | B T m 00 .. Di : m
I-L-I\I\I | I N | [ [ [ | | (N 14 —
1. ALL CONCRETE WALLS ARE 5 1/2” THICK U.N.O. n T I | \s0-2) oO L
2. T.L. INDICATES TOP OF LEDGER FROM FINISHED FLOOR LINE. =z — (E) 2x10| JOISTSi—] — — AR T
3. BEFORE COMMENCING ANY WORK, THE CONTRACTOR SHALL o Tfroqprrorr i 1@ 16” 0.8 (TYP) ! A S V\{
READ ALL NOTES AND SPECIFICATIONS CONTAINED ON SHEET SN. N - S | . . \'\\"
© & : w0
=l I T I T | NI A b o I oo I ) ‘;96)
<E | I I Y Y E B B | I e T N e e R I e e [ | | | [ \QJ
=1 (E) 6x10 (E) 6x10 (E) 6x10 | : ~
Q _ _ _ _ ENTRY | L ‘
| D ‘ A W
(E) CONC. WALL

13
\S>-2/TYP @
.C. 8'-0" O.C.
BLDG #10 (E) MEZZANINE FRAMING PLAN EAST
@1/8,.=1,#0,, (E) (EAST) NORTH




140’
,‘ 1 b ’ b 1 b ,‘
5 20 L 25 ] 25 L 25 ] 25 L 20 ’
8,—6” 8’ 8' 8'
4 4
(E) CONC. WALL W E10 QL HINGE A - (E) CONC. WALL
\£0-2)/[TYP @ EACH R Y ¢.L. HINGE
—1{ [PURLIN_U.N. so-1/TYP|@ l L
EACH PURLIN < &
@ :
______ I_
I | | | | | | | | | |
—— — | - | | | | | | | | | | |
——
I
—————— |~ (E) 4"x LEDGER 1 [ [ [ [ [ [ [ [
______ TYP @ PERIMETER ! ! ! . . | | | |
: | (5 (
-—F——- EQ
e | % | | | | |
__ TYP @
| OR 4£-0" 0.C.
- | | | | | | | |
o | | | | | | |
@ B  ®© 518 lE) 5 1/8°x2b 1/2” L | \&>-/ | L = €) 5 1/8x21” o8 B
_ 1 1 r N |
| | ‘ | |
-— | | | A [ H N S e | m
- (E) 2"X4” (E) 2”)(4-” SD—1
RAFTERS @ | RAFTERS @ .
2 ) 2 3 ” 9 TYP @
-— 24” 0.C. | TYP @ PURLIN 1 ! ‘ (E) 2yx4" | 4 (E) 2x4 N ! ! ! ! 24" 0.C. F—-lm—— =77 8'—0" 0.C -
______ (TYP U.N.0.) 128\ ! WHERE' SHOWN | ' "16” sHA o/cVN'1e” sfa o/d ! ' ! ! 128\ (TYP U.N.0.) el L
8 | &2 | @) | =
N
l l | | | | | l l ©
: I ‘I OR I I ‘I I I OR I‘ I : . — p
| /5 (5 | | | v |
| | ;
. | | | | ! | - . | °
| |
@ - b (E) 5[1/8"x21” GLB ‘¥|L 5 1/8"x25 { J|L J|L () 5 1/8"x2)" GLB
- —— —— _—-—-—_Q 1
| | % | | | | |
|
Ll | | : | | o |
o | / @ ” » ’ ” | Pa/‘
e < __(E) 4"x14” PURLINS @ 8'-0" O.C. (TYl
o 4—0" 0.C I I I I I
O UN.O. I \ I , I I [
g | | |
| | | | | |
&3 g (2
| PURLIN ! . | 2 [ ! W | |
I I I I \ ©/\ I é I
(E) 5 1/8"%k 12" GLB 0 1/2” GLB 2 (E) 51/8"x40 1 (E) 5 1/8”x4|o 1/2” GLB = (E) 5 1/8"x40 1/2” GLB / X (E) 5 1/8%k 12" GLB |
4 - S ] = T —_— —] ;.FL g—_— Q‘; H—Ht | |-r
> 2 Zs
% SNGn | 2.
X % J I I -
=7 |, S B er F &2 . . o Y
[TYP_@ GLB ] g | S|\ 2 >~ « | <y . m P\
x > I <
TO WAL T | Zk 3 ADD TIES T DBL 2x < 1 T \&2) TYP © GLB
} <+ o~ %
o | 714\ J [ ADD TES AT DBL 2x|/ 57\ X s T g JOISTS IF JOISTS ARE o & | 'TO WALL
= ) DISCONTINUOUS ® "
o ! -2 JOISTS IF JOISTS ARE A &) <2 , w '3 ! ! .
N 0 \lj DISCONTINUOUS|\®~%/ - @ ~[o BN . | A
A | T ~lo m | ' S1-63,
- | (B8 R T CEN R S (B8 2N B . |
| — /12 W W | s W o | | I | |
W W - &
” ” JL ‘ | @b‘ L : ) »
@ o |L (E) 5 1/87k 12" GLB M la="(E) axa TOP PL___ L 4x4 TOP PL i <> il | E) 4x4 TOP PL it | () 4x4 TOP PL 4|1 7 (E) 5 1/8"x 12" GLB |
| ] L N\ B '-_— n — I B als ] n W [ ] L
m I E9 . wt\Q 1f . v . wt\o 1f m E9
. Lo [ I I = N T N I N B I [ I I —
@ , TYP @ e (E) 4ad! 1 1 1 11 N [ Lo : ! (E)_4x1 ¥ E)axIA 111 I N [ L : oo | W I @TYP ©° |
L o 00 —0 sy — L b a e B L == --A/a | £-0" 0.C
T P @ @ LOW RF 0 | | 6‘- N\ @ “r1 T | |(E i (o‘\g) 0 @ LOW RF |
’ ” [o} N\ S,
e §-0" 0.c (€) 4x a < | : ! |§| Lo - | _e) aa W(E) ag| | No « | : by %I oy < O || 42
o Il L -~ I A O N [ T T T U I (I [ I [ T O M= | I 3 3 =
’?\\ = : ! !;I I R B N ! : : : ::il Lol ! L1l ! ! ! ! [ T T T |/“i: : I : : o ! : : : : 1 1/ Lo E! ! ,: \k/g | == | \&’q <C
‘% P Y ! Y S = | ! E 3 ! S t@ = : I :| | | 7, X 7 —
N ENTRY \ " | 1 (E) 2"x14] JOISTS — [ || m m JOISTS — 1 1 | S| / ENTRY ~ - O
| I Lty 11 1 @16"™ 0 (TYP UN.Q.) | | C. (TYP U N.Q.L L ‘ I ‘ | —
@ - - A e 7 X : 1.*I [N S Y T T N N | — 1 — 4 | e S T | IiI [ = XL A L E —
© (E) CONC. WALL —|| | | | FNTRY | O K al
‘ 22727~ = — = — ~ =
1 . . . . 777777771 — — Y/ 777777772 T ~ T — _ _ Z O
Q 7?\\, (E) 2"x12” JOISTS (E) 2"x12” JOISTS “o\© ROOF TYP — =z
,__ 9”9 9”9 ” . __J <
| | S @ 16" 0.C. | | @ 16" 0.C. (E) 8” CONC. Ll =
(E) 8 CONC 2 SPANDREL ~ \-0-2/@ EA. PURLIN N 2 L
SPANDREL £29\ @ CEILING TYP. W/ ’ (B) 8’ cone. /E29\ @ CEILING TYP. W o S
. o7 0" o
> Y/TE © F-0"0C S e GRS L Ofzz|| =
(10 ) 1vp @ mTYP @ — nli =
\$0-2/EACH PURLIN \$0-2/EACH PURLIN = 832g O
= _
) Z2e=]]..
BLDG #63 (E) LOW ROOF AND PENTHOUSE FRAMING PLAN - g_.g_o w0
1 1/8" = 1'-0” Ll PEu]|S &
» I———D:Z
(E) 8” CONC. N =z%Z ||
SPANDREL GOz M
2l | e
ELEV. +24'—4" _ . _ . _ . ] : . - . . — < Tk
. i .A a ,,‘.’ ke . 'a i ' L, Col jA .1..4,..4 D S L .t > 4. _4‘_ ) .‘.4 .4. 4w . ., . < . ..47 _4‘ ) 4.'-'.-.._4 5. o
T U U U TR P L P N DU SR L SPIP USRS I B P PERRTPR AR ¥ (E) 8" CONC. i A
o e ﬂ._.;_' “ 4" . e .,‘ e _-'-__4' s L “ﬂ‘ A g e PR --_""4-__ A _— «‘ T PEEEN .,:'., AT e SRR A SPANDREL — O EJJ EI
C Cae L - . o L .<_. o @ Ce .?- .._4__.-‘.4_-. 4 -.‘. '_. - e -. a4 : B .. 4. a- -4".. W _..;;,__4- co e Ly 4.._4. ; ‘.--q 4 ._.‘4. . , J - -& -
NOTES: (E) 8" CONC. (€) 5 1/2” AT e e ot e T et s e :“ R R T a2 L T e e T e a9 (€) 5 1/2" o D_ T
- SPANDREL CONC. WALL : - CONC. WALL "o m
1. ALL CONCRETE WALLS ARE 5 1/2” THICK U.N.O. . _ .
2. T.L. INDICATES TOP OF LEDGER FROM FINISHED FLOOR LINE. ELEV. +15=0 — i ELEV. +15'=0
3. BEFORE COMMENCING ANY WORK, THE CONTRACTOR SHALL B VR R A | A T e ITEEEITI I 722yt A BT O P R I e e 172 iy e | DA RIS SR
.o e ..-q. .._4-”‘_‘__-4.. . - 4 "y // e / << < AP .:- 2 ] s __‘..._ .. _.-qu__.___ /% 4 f /_..._ N a 4 0 7 /_4 g A ARPREE .a p ".-4- _. , /._. ) P - ] _._‘ . " < 4 - .‘.,'- ‘ --‘ s .
READ ALL NOTES AND SPECIFICATIONS CONTAINED ON SHEET SN. B (R N 7 77 S R ARECI .-.*-F?ff,@//,”?’;?',//ﬁ’ﬁq-. RN A B 2 A i
B R DR I | I 77 7777 B NP N LSS R 7 7277 MR ININ 7 77 /7 B I L PRI 7/ 7 b it R "'
PR < 2 < - R S A 2P I T ‘e @ ? . “{//,/1./‘/-./7/. LA ? L2 A A e N < p . 4 L A4 v . a s <4 i ca
14|
(E) 8" CONC.\J
) SPANDREL
ELEV. +0'-0" / /-, : \ / \ / ] \\ \

\ / \\(E) MASONRY \\(E) MASONRY \ /
(E) MASONRY WALL WALL (E) MASONRY
WALL WALL NORTH

@BLDG 463 (E) FRONT ELEVATION

/8 = 1-0"




ELEV. +24'—4"

ELEV. +23'—10"

(\(E) 1/2” PLY ROOF SHTG

(AT HIGH PT
OF HIGH ROOF)

ELEV. +15'-0"
ELEV. +14'-9"

(\(E) 1/2” PLY ROOF SHTG

Y

(AT HIGH PT

OF LOW ROOF)

N : |/

i (E) 2'x4” RAFTERS_

_ (E) GLULAM BEAM
ds (E) 4”x14” PURLINS

_ (E) 4”x LEDGER
(E) 5 1/2”5 |
CONC. WALL ]

3

ELEV. +0'-0" al

oA

(E) 2"x4" RAFTERS.J
. (E) GLULAM BEAM
: (E) 4"x LEDGER

(E) 4”x PURLINS

(E) 5/8” PLY FLOOR SHTG

ELEV. +11°=10 1/2"
(AT PENTHOUSE
FLOOR)

(E) 2x, 4x OR 6x
FLOOR JOISTS

:?(E) 5 1/2” CONC. WALL

@SECTION THRU BLDG #63

1/4" = 1'-0

NOTES:

1. ALL CONCRETE WALLS ARE 5 1/2” THICK U.N.O.
2. T.L. INDICATES TOP OF LEDGER FROM FINISHED FLOOR LINE.
5. BEFORE COMMENCING ANY WORK, THE CONTRACTOR SHALL
READ ALL NOTES AND SPECIFICATIONS CONTAINED ON SHEET SN.

25’

25’

25’

I © 5 1/8ha5 o

Ep—
|
|

/4 \REQD IF

DISCONTINUOUS |
UPPORT

OVER S

6 Is |

©
N
|
|
|
a\\ 1r
b S
~ |
(E) 2°x4” |
RAFTERS @
24" 0.C. !
° (TYP U.N.O.) I
N

(E) 4”x12” PURLINS

REQ'D IF GLB IS
W DISCONTINUQUS
OVER SUPPORT

(E) V| (E)
,4I16” SPA O/Mlm”

P:4O/£}

1
4"%12" PURLINS

@ 8'-0" 0.C. (TYP)

(E) 2"x4”
RAFTERS @
24” 0.C.
(TYP U.N.O.)

N

GR@

3 /@ 8'-0" 0.C. (TYP)
,.35/ .l J J
|
|

WP @
4'-0" 0.C.

(E) CONC. WALL

- |
| | | | ==
e WA / (] \/ 1] | ’
| A W AN (ISR /AN S S Y SR AN VSN U DR N
N - \ - —
\0
2/
(E) 4”x LEDGER W A
(E) CONC. WALL TYP @ PERIMETER 10 10
IIEPRL% EA W TYP @ EACH
(E) 8” CONC. SPANDRAL \SP-2) PURLIN U.N.O.

@BLDG #63 (E) HIGH ROOF FRAMING PLAN
1/8" = 1'-0"

NORTH

JECT:

CUSTOMER:

RPORT SEISMIC RETROFRIT

prd
<C
]
Q-
@)
<
. >
Y <
< e
j L
I L
@ @)
O
= i
EZ<
Ha<Z
nSE& =
QZE o
=05 L
L |
520 —~
oL ; e
*‘E(‘Z 1~~~
ES5=[15 ™
= = SR
- O
[
W
LM
T
27




(
(E) GLULAM (E) PLYWOOD SHTG.
BEAM 4" TYP.
(E) 4x PURLINS 7 5
(E) CONC WALL
OR LINTEL
b (E) 2x RAFTERS (E) CONC WALL
° (E) 4x LEDGER OR LINTEL
I
:| (E) 2x CEILING JOISTS (£) 4x LEDGER
I (E) L3x2x3/16” (LLV) (WHERE RECESSED X
_ — F) PLYWOOD SHTG. E) 4x PURLINS
© 009 0° \| \o0 0009 W/ 3— 3/4"¢ ANCHOR BOLTS (B) CEILING OCCURS) (&)
/ | © \ (E) GLULAM o " : (E) PLYWOOD SHTG.
[ 1o o | =< BEAM BELOW _2‘“” d“' 7 / (E) 2x RAFTERS
/ \ (E) COLUMN U VE N S
[ ] (E) HINGE CONN. BELOW (E) 2x JOISTS s, / SRR I S A — ) /
/ | - I . :
' i " " ¥ DR \y \A ’ ‘. '_4“_ (E) 2x CEILING
(E) 1/4" x 4" STRAP E.S. || A 4 ' N /JO'STS
W/ 1¢ BOLTS PER SCHEDULE —— DU \ 4
21” C = . . (E) HANGER (E) AH36 STRAP R . : A 2\
3 4 4 \ g S W/ 2— 1/2"¢ BOLTS o
i (E) PLYWOOD CEILING o
o (WHERE RECESSED : (E) HANGER (E) PLYWOOD CEILING
BLDG NO. | GRID LOCATIONS |NO. OF BOLTS S L B I L e - E— S I == 4 CEILING OCCURS) p (WHERE RECESSED o
' ' —F1T BN A— ] — gy f— (S S— Cag L CEILING OCCURS) N
34 3B, 3E 4 — 4 d4d B =
35 3B, 3G 6 A o 4 (E) AS30 STRAP © .
36 3B, 3F 4 | n n n n /ﬁ T W/ 2— 1/2”¢ BOLTS o !
37 4B, 4C, 4D, 4E 4 ' o -
38 z;Eé, 4C, 4D, 4E zg (E) 2x BLOCKING /E 1
29 £~ ; (E) CONC WALL W/ 2— 1/2"¢ BOLTS
PHASE 7 PHASE 7 PHASE 6, 7 PHASE 6, 7
SCALE SCALE SCALE SCALE
EXIST. HINGE W/ STRAPS AT GLB SPLICE —— £/ EXISTING WALL TIE AT PENTHOUSE FLOOR — S| EXISTING RAFTER TO WALL TIE — 5| EXISTING PURLIN TO WALL TIE — F 1
(E) GLULAM (E) PLYWOOD SHTG.
BEAM 4" TYP.
' 3”
E) 4x PURLINS /
(E) PLYWOOD SHTG. (B) 4x gER) Em& WALL
(E) GLULAM
BEAM (:'L' OF SPL'CE V4 vk Z 7 7 7 7 7 7 ¥ 7 (E) CONC WALL
I \‘ / (E) GLULAM
BEAM
—(E) PLYWOOD SHTG.
\ | — O 00O OO ®dooo | —— (E) 4x LEDGER L '
\I\ - y4 v
(0] (0] - || ° ° (f)
é é (o] (o] <_7 < l_ i
L0} o) o Y ——— — <C
n - (E) 4x PURLINS i |_<.5 -
\\ L |\(E) COLUMN L oy -
| _ S
” » ’ l_ j Q
(E) 1/4” x 47 STRAP E.S. o L 2 0
(E) 3/16" x 3" STRAP W/ 18 BOLTS PER SCHEDULE i a< N A g <
W/ 4— 3/4 ® BOLTS o (E) AH36 STRAP 019_ %
(ONE SIDE) IR W/ 2— 1/2"¢ BOLTS O 5=
< Ox <]:
7L ' = 320|| =
| =2l v
(E) SIMPSON CONNECTOR N Ze=2| -
Vo 5o
BLDG NO. | GRID LOCATIONS |NO. OF BOLTS L] P&y
(E) 1/8" x 3" x 2'—0" STRAP (B) 4x POST 0O EZZ||lE £
34 3C, 3D 6 : 53zl =
R 0 W/ 2— 5/8"@ BOLTS . o | P
35 ’ o < Z
3D, 3E 12 | v X<
36 3C, 3D, 3E 8 % (E) 3/4”¢ ANCHOR BOLTS ;O wo b
3B 6 °on -
L
37 3D, 3E 10 -
1 F
SF 8 o
DCV
. S(L
WL
PHASE 1 % PHASE 7 PHASE 6, 7 PHASE 6, 7
SCALE SCALE SCALE SCALE
KEXISTING STRAP AT GLULAM SPLICE — L8| EXISTING STRAPS AT GLULAM SPLICE ——1E6 | EXISTING PURLIN TO WALL TIE ——1E4| EXISTING GLULAM BEAM TO WALL TIE —




(E) PLYWOOD SHTG.

TITLE:

EXISTING STANDARD DETAILS

HEET

(E) GLULAM
BEAM (E) GLB
(E) CONC WALL (E) 4x PURLINS
””””” '&i’ﬂ\ (E) #7 RE-BAR (&) PLYNOOD SHTE. (E) PLYWOOD SHTG. Jlr
\‘ ON C.L.
© 00000 \ [\ 000000 — Ui i (E) HANGER (E) PLYWOOD SHTG.
3 \ ” /
—r (E) PLYWOOD SHTG. - ; 4" 4", 8 8" 4.4 (E) 4x
/JOSTS
(E) HINGE CONN. \ / ,,,,,,, B S N I N S
(E) ARCH. RIB = = / ;
S.C. 5 STRAP = | 3” 3” 37| 4 1 _O” 0] o 0] / (0] (0] (0]
FIELD VERIFY (U.N.O. ON PLAN) K e & -
PHASE 4 CONDITION = <l E
Ry =h_ = ‘ ’ :
EXISTING ANGLE TIES AT GLULAM SPLICE ———F24 \ ' H / H \(E) 4x TOP PL
i // (E) GLB N S s a5 0 6 6 0 (E) 1/47 x 4" STRAP E.S. h (E) 2x TOP PL
. 4 s! N
(E) 2x6 SHTG. e (E) 1/4” BNT PL BUCKET / \ / / WoeT /e O \(E) 50ST -
(E) 6x12 BEAM [/L W/ 2— 3/4"¢ BOLTS (£) 4x_/ X Z ¢ o
JOIST =
R o ) 45, T 2LTS ) comecron oo Lol L) o :
v 7777777777 THREADED INSERTS (EACH SIDE OF JOIST 0
\‘ ON 8” GA. AND STRUT) W/ 4— 7/8"¢ o
5y v Ea BOLTS
(j A o= (E) 3/4"¢ A3|6| ROD
- (EACH SIDE OF JOIST \\
(E) L3 1/2"x3 1/2”xO’—8”/ AND STRUT)
FA. SIDE W/ 2— 3/4”¢ BOLTS - LJ
THRU BEAM AND 4— 3/4"¢ A.B. ¢ \ nE 4
(E) CONC WALL (E) POST
OR BEAM
PHASE 4 PHASE 11 PHASE 11 NOTE: FOR CAPACITY OF EXISTING PHASE 11
SHT-27 \SHT-9/ \SHT-17 CONNECTOR SEE E12/ED—2 \SHT-17
EXISTING CLIP L's AT BM TO WALL CONNp—=——E25| EXISTING GLULAM TO WALL CONN. —2—1F21| EXIST. JOIST TO STRUT TIE AT GLULAM ———=——E19| EXISTING STRAPS AT PENTHOUSE FLOOR |—=——E17
(E) PLYWOOD SHTG. ) o
7 7—0
VP 37 (E) PLYWOOD SHTG.
LOCKING . ¢ (E) 4x STRUTS, PURLINS (E) CONC WALL
8l OR EXTENDED LEDGERS
TR (E) PLYWOOD SHTG.
“ |_o_o " y. s 55 — = s ,,,,,,,\,, (E) GLULAM
= = | — BEAM §
; C-° CAI:I/ R / I 1 (E) 4x LEDGER Tt L Tt s
(E) DRAG CONN.J ko \ ¢ /
PL 1/4°x6” AND #6 REBAR N (E) ARCH. RIB (E) 4x PURLIN g -
W/ 6 3/4"¢ BOLTS AT DET. 26 e s’c 4 S'.FRAP OR GLB a4 1'—6” \ A S — -
W/ 10 3/4"¢ BOLTS AT DET. 26A ¢ (U.N.d.'ON PLAN) (E) 2x RAFTERS © o o] | |_O|_
—_
" A=
D—1\ /D—2 NS <
PHASE 4 @ @ 6 (E) CONC WALL PHASE 4 % g | [To o] E 5
- r g
EXIST. DRAG CONN. THRU COMMON WALL—=——E26 | EXISTING STRAP AT STRUT ———1F22 . .y
8" 8 (E) CONC WALL - Z (E) HINGE CONN. % ggé
. L / (E) CLULAM () PLYNOOD SHTC o (E) 1/8" x 2 1/2" STRAP (E) 1/4” x 4" STRAP E.S. L] ?E;
s 1 Jf L % BEAM o W/ 1— 5/8"¢ BOLT W/ 6— 7/8"¢% BOLTS ) §§§
| — £°
\ L q/L (E) 3/4”¢ EXP. ANCHOR %
/ \ \ ° o ° o W/ 3”°x3"x3/16” PL WASHER -0
AR
(E) 3/4"5 AB. (E) 4x LEDGER | — ;g
O Q:V
— L_ NSy
(E) 1/8” x 2 1/2" x 2'—6" (E) 1/8” x 2 1/2” x 2—0" \(E) ARCH. RIB WA
STRAP W/ 1— 3/4”¢ BOLT STRAP W/ 1— 3/4”¢ BOLT S.C. 5 STRAP
& 3°x3"x5/16” PL WASHER & 3°x3"x5/16” PL WASHER (E) HINGE CONN (UN.O. ON PLAN)
EA. END OF STRAP ~ EA. END OF STRAP '
PHASE 11 w \(E) GLULAM BEAM PHASE 4 w PHASE 11 W PHASE 11 W
\EXIST. GLB TO WALL TIE AT PANEL JOINTf=—75—E27 | EXISTING STRAPS AT GLULAM SPLICE ——1F23| EXISTING RAFTER TO WALL TIE —~—1F20| EXIST. STRAPS AT GLULAM HINGE CONN. —=—F18

)




4 (E) CONC. WALL
—~+ / (E) 4x LEDGER BL 1 /47X 4" X0 — 47 (SIBEzgﬁDGZLAB)(ONE o EACH —(E) 2x4 OR 2x6
. x4 xO — ”» ”
(F) HANGER (E) PLYWOOD SHTG. j e NU)T o S0 ~ (E) PLYWOOD SHTG. @ 16” OR 24” 0.C. (E) HANGER
| OF WALL
7 (E) 2x CEILING/FLOOR JOISTS — " (E) PLYWOOD SHTG. i}
a — (E) PLYWOOD SHTG. \ B It
o ! E—Y —-Tc o ”"""’,;”;,”.'1"',y".".i' 5 —
. . 27 VvV 7 7 7 7 ] /_ : L | I VI\
.4 @/ o @]
4 I’ . . L Y - Lo
| \\ ‘ . o A PL 1/4"x3"x0'~3—/ |
(VAL \ | - . » I /> W/ 1 NUT (EA SIDE x
. ; P — N — kT ; “ DR “ _._.L.J=:._q‘\ “ OI—_ WALL) /14. (N) HD2A EACH S|DE
s, \ — (E) PLASTER R I B AN —— 5/8"% BOLT INTO 3/4”¢
5" (N) HD2A EACH SIDE gléllc_luNRGS)(WHERE () o8 — (N) 5/8" DIA BOLT/ I (E) BRACKET L (E) GLB (E) CONC. WALL 4\ HOLE THRU WOOD PLATE
<z ' (N) 5/8”¢ BOLT INTO 3/4"¢ INTO 3/47 DIA HOLE ..q' g q i (E) CONC. PILASTER /
I HOLE FILLED W/ SIMPSON N TYPICAL INSTALLA TION @
EPOXY (ICBO # ER—4945 -
neee # > TYPICAL INSTALLATION )
TYPICAL INSTALLATION Q \
13 ¢.L. OF WALL
3_Q" 3_Q" ¢.L. OF WALL
(E) CONC. WALL (N) 3/16”x5" STRAP x 6'—0" W/ 30— 50 5 =0
| Vﬁ #12 W.S. x|3” LONG (IN 2 ROWS) EACH (N) 3/18°x2” STRAP x 6'—0" W/
(N) 3/16”x2” STRAP x 368" W/ SIDE OF WALL (60— #12 W.S. TOTAL) 15- #12| W.S. x 3" LONG EACH .
e 15— #12 W.S. x 3" LONG (ON C.L. Of GLB) SIDE OF |WALL (30— #12 W.S. N
o (ON C.L. OF PURLIN) M M TOTAL) i
s (ON C.L.|OF RAFTER) - o
- Ty 77— z n |
— T - = —- == 3
<t | [ L <" A. .'
N n ALERA ! -
5 3/161 17 (E) 6LB — A (E) BRACKET —— (E) GLB .
.o ’ ] 7 A
% _. 1N (E) CONC. PILASTER
: \/ .
ALTERNATE INSTALLATION
ALTERNATE INSTALLA TTON @ ALTERNATE INSTALLATION — @
FLOOR JOIST TO WALL TIE —-—113| GLULAM TO GLULAM TIE AT COMMON WALL —~—1 11| PURLIN TO PURLIN TIE AT COMMON WALL ——1 9
| %_1/(5) CONC. WALL (E) 2x CEILING/FLOOR JOISTS (E) 2x BLOCKING (E) CONC LINTEL
| - OR (E) 2x RAFTERS (E) FLOOR JOISTS . . . _YF'./(E) CONG. WALL (E) 4x LEDGER
- o (E) HANGER
F (E) PLYWOOD SHTC. 2 (E) 2x RAFTERS OR
/o A W /A T (B) 4x4 TOP PLATE i _. — (E) PLYWOOD SHTG.
] / = \ DR I S | / _
4 L < A :
I e ——— Jo\ o] == — t - 4+ = — ) s S I’ 8 /
. O ! \ 4 A : | — P |
SV BN BENIEL ——— Cyp e
N N e N e /—7 —————— ‘_WE el \ \ S
. 1 . REE )
ne k (E) WALL BOARD REMOVE EXISTING WALL BOARD - L P = — T
\K (N) COUPLING NUT X AND MOUNT HDA TO FACE OF o S A k b (E) PLASTER CEILING
A (N) 1”¢ STD PIPE EgA\NC)HHgl[Z)é 4x4 TOP PLATE A'q. 57 (N) HD2A EACH SIDE (WHERE RECESSED l_
. COMPRESSION SLEEVE - —
] N CEILING OCCURS) L
1 ,’('NSTALL SNUG T'?HT) (N) 2x BLOCKING PLAN 1 _- (N) 5/8”¢ BOLT INTO 3/4"¢ g .
R EAREE R (E) PLASTER CEILING (E) PLYWOOD o (oo ' e — =
EPOXY (ICBO # ER—4945) (WHERE OCCURS) (E) 2x BLOCKING FLOOR SHTG. E : g
L
TYPICAL INSTALLATION Q . r o o TYPICAL INSTALLATION @ =l =
14 2 O EzZ< L
QO — O":.z
E) FLOOR JOISTS - (N) 5/8"¢ BOLT INTO 3/4"¢ nSEll ©
| VE 8'—0" MIN. (E) Vﬁ '/(E) CONC. WALL § HOLE FILLED W/ SIMPSON % ng A
o / | o EPOXY (ICBO # ER—4945) (N) 3/167x2" STRAP x 36" i | NG
o | (N) 3/16"x2" |STRAP x 8 —0" TL ELEVATION +11'=9 7/8: N . . A \ = - W/ 15— #12 W.S. x 3" LONG % 2Edflo <
- ” < = ) <=z |l- O
P ) A / 14 fwsmssnmoses | 5 G TR T
a (ON C.L. OF HURLIN) (E) 4x4 TOP PLATE /N /HOLE FILLED W/ SIMPSON - / MAY USE SIMPSON LTTI31 — = <C
— e / o EPOXY (ICBO # ER—4945) J _. TIE PER DETAIL 8/SD—1. i - Z
\ / M) / - O Ll
- \4 V Yy — . - —— = — OD_ [
o 4'4 4 Ll T
: : j f o a Sg .m
.. —_—N T —F II // ., T~ — . ._ . .4 N . )
s, \ (E) 2x4 TOP PLATE e N \ ‘ | o
5” (N) 5/8”¢ BOLT INTO 3/4"¢ > -
HOLE FILLED W/ SIMPSON (N) 2x BLOCKING 1L o1 5 3/16 171"
<;7L i EPOXY (ICBO # ER—4945) 7L
(E) WALL BOARD NOT Rl e
SHOWN FOR CLARITY (N) HD2A EACH SIDE
ALTERNATE INSTALLATION @ AL TERNATE INSTALLATION @
cLEVATION
| JOIST OR RAFTER PARALLEL TO WALL TIE 75— 14| BEARING WALL TIE AT PENTHOUSE FLOOR ———112| PURLIN OR RAFTER TIE AT LINTEL —




(E) 4x PURLIN

(N) SIMPSON HD6A

(E) GLB

2— 7/8"¢
BOLTS

(E) GLB
$/

[

3— 7/8"¢ BOLTS
(E) 4x PURLIN /
y | o N o |

(E) 4x FLOOR JOIST
OR DBL 2x FLOOR JOIST

%]ﬁﬁ

;

S 11/2"
- ﬂ_& - (N) L3 1/2” x 3 1/2” x 317 | 412
1l - 1/4”
~ “H “H . PLAN
) | — N
1 1 o] H \ (N) SIMPSON HDBA cP (E) b PURLI
EA. SIDE (E) PURLIN
31/2” (- (E) 4x PURLIN o éEO)OELgX'V?gD
o (N) L3 1/27 x 3 1/27 PLAN
174 E) PLYWOOD
2-61/2 \ éO)OF SHTG. |
M ¥ L ® E
oo %:i:g o—o] & ;l (E) FLOR SHEATHNG]
\ \~(E) 4x PURLIN
(N) SIMPSON HD6A : pr—s
(E) HANGER / 3 FLEVATION
(E) GLB (E) 4x FLOOR JOISTJ \
OR DBL 2x FLOOR JOIST (E) GLB
CLEVATION (N) SIMPSON HDBA
EA. SIDE  (E) PURLIN (E) HANGER
SCALE SCALE SCALE
—— DRAG TIE AT OFFSET ROOF PURLINS ——=1 33| DRAG TIE AT OFFSET ROOF PURLIN TO FLOOR JOIST IR
B
-/ (E) GLB
/ ” ” NOTE: AN
§N>4,,L3 1/27 x 31/27 x PROVIDE ANGLE TIE
(E) 4x PURLI / ONE SIDE OR BOTH
SIDES OF PURLIN AS
| i INDICATED ON PLAN.
0 ) ‘ (E) 4x PURLIN
K/\/\ 3— 7/8”¢ BOLTS
/\/\/\/\ & e T O e 1
N A Jggﬂ—
(E) 4x PURLIN
SCALE ] _
‘ S 11/2 11/2"
% - (N) L3 1/2” x 3 1/12/45 so | 44
\SS ~LAN (E) 4x PURLIN
Lol -
(N) SIMPSON HD6A - (E) PLYWOOD
EA. SIDE  (E) PURLIN 5'-0’ ROOF SHTG.
NN F X ¥ R
(E) HANGER/ \(E) GLB
cLEVATION
SCALE SCALE SCALE

N.T.S.

DRAG TIE AT OFFSET ROOF PURLINS

111 — 1)_011

CUSTOMER:

MACARTHUR BLVD.AND REDHILL AVE.

AIRPORT BUSINESS CTR
IRVINE, CALIFORNIA

—
[
O
%
|_
L
%
=
=
v
L
%
|_
%
.O

ool

STANDARD DETAILS

HEET TITLE:

)




